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struct”’
sentence ™

struct word {
char *s;

struct word *next;

¥

struct sentence {

struct word *wordlist;
struct sentence *next;
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Numberl:
#include <stdio.h>
#define SIZE 100

enum {FALSE,TRUE};

void mergeSort (int array[], int size);
int merge (int listl[], int sizel , int list2[] , int size2 , int list3[]);

void arrange (int arr[] , int len)

{

int tmp[SIZE], 1, j;

mergeSort(arr,len);

for (i=0, j=0 ; i<len; i+=2 , j++){
tmp[i]=arr[len-1-j];
tmp[it+1]=arr(j];

}

if (len%2==0){
tmp[i]=arr[len-1];

}

for (i=0; i< len; i++)
arr[i]=tmpl[i];

return,

Numver 2:

#include <stdio.h>
#define SIZE 100

enum {FALSE,TRUE};

int FindPath (int g[SIZE][SIZE], int v, int s, int t)

{ . .
inti;
if (g[s][t]==TRUE)
return TRUE;
for (i=0; i<v; i++){
if (g[s][1]==TRUE && FindPath(g,v,i,t)==TRUE)
return TRUE;
H
return FALSE;
}



Number 3:

#include <stdio.h>
#include <string.h>
#define LEN 100

enum {FALSE,TRUE};

struct word {
char *s;
struct word *next;

¥

struct sentence {
struct word *wordlist;
struct sentence *next;

s
void FindWord (struct sentence *list , char *s)
{
struct word *tmp;
for ('; list!=NULL; list=list->next){
for (tmp=list->wordlist; tmp!=NULL; tmp=tmp->next){
if (strcmp(tmp->s,5)==0){
PrintSentence (list);
break;
h
b
}
return;
}

void PrintSentence (struct sentence *list)

{
struct word *tmp;
for (tmp=list->wordlist; tmp!=NULL; tmp=tmp->next)
printf("%s ",tmp->s);
printf("\n");
return;
}

void printDuplicate (struct sentence *list)
{
struct sentence *s;
struct word *w1,*w2;
int flag;
for ( ; list->next!=NULL; list=list->next){
for (s=list->next; s!=NULL; s=s->next){
flag=TRUE;



for (wl=list->wordlist , w2=s->wordlist; wl!=NULL &&
w2!=NULL; wl=wl->next, w2=w2->next){
if (stremp(w1->s,w2->s)!=0){

flag=FALSE;
break;
h
J
if (flag==TRUE && w1==NULL & & w2==NULL){
PrintSentence(list);
break;
§
h
}
return;



